Quiz 4.1C


AP Statistics


Name:

This dataset contains the global estimate of cumulative HIV cases worldwide.  A scatterplot with the least-squares regression line superimposed and a residual plot from CrunchIt! are displayed.
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	Years since

1980
	HIV infection

(millions)

	8
	  8.7

	9
	10.7

	10
	13.0

	11
	15.5

	12
	18.5

	13
	21.9

	14
	25.9

	15
	30.6

	16
	36.2
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1. 
How well does the linear model fit these data?  
Justify your answer.

2. 
Some experts warned that the number of cases of HIV infection was growing exponentially.  Use your calculator to perform an appropriate transformation of the data to achieve linearity if the underlying relationship between the variables is exponential.  Perform least-squares regression on the transformed data.  Record your regression equation below.  Define any variables you use.

3. 
Use your model from Question 2 to predict the number of HIV infections in the year 2000.
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